DHW Check

Box 3: Cumulative Review # 5

Box 4: Cumulative Review #12

Go to my weebly to begin checking your
answers
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We use inverse operations and equality properties
to solve equations.

Inverse operations undo each other.
addition = subtraction
multiplication = division

***Equality properties are true for all real numbers.

Addition Property of Equality - If a=b,thena+c=b+c¢
Subtraction Property of Equality - If a=b,thena-c=b-c
Multiplication Property of Equality - If a = b, then ac = bc, c#0
Division Property of Equality - If a= b, thena/c=b/c,c40

To solve equations, we get the variable by itself on one side



Steps to solving equations

1) Locate the variable

2) Simplify if possible (get one sign in front of each term )
3) Determine what is happening to the variable

4) Use inverse operations to undo what is happening

5) Check your answer
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Find the variable (letter) in

the equation.

.

rMake sure every term has
only ONE sign in front. **If
not, make ONE sign**

(Complete the invers&—w

operation:
Addition @m——)Sybtraction

J\Au|tip|icz-mom'—'Division@_W
(*GOAL* for solving ALD

equations: Isolate the variable
on one side of the equal sign.
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Guided Practice
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lejgie has 3 pencils. Her friend gave her some
more pencils for her birthday. Now Susie has a
total of 5 pencils. How many pencils did her
friend give her for her birthday?
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